THAFERERER D (ARITE) AERHEME

EES) B (#E HEEE (%) |HE
R EE BEREVGRTF |BLSF At
1 BEBENOHELLNESL [m3 0
2 L IRKRRSY _|m3 0
3 |miwE ﬁ§77’5’ﬁﬁ“f:"_y’*% m3 0 0 of #ov/or
JIOZYTIVASTERL:
4 r—y gt m3 0
5 S B A B AR S m3 41 0 47 100
6 BEMNBTRAITINES t 1,572
; ;X?WLHE‘S ﬁﬁﬂx%ﬁ‘;‘ﬁ)\77a7)w;‘ﬁ R 0 0 1572 100
8 FB L7 XT7ILNES t 0
9 y—t E&ﬁxﬁg“r‘%ﬁ S m3 0
10 AV —bAR [ZIRZvHF LRSS B m3 0
11 |578#H HAST B m3 0 0 o #Dv/O:
12 ;ﬂgiﬁ%ﬁtxiégg m3 0
13 SRR SV EA m3 0
14 EREEH EE‘%H%m m3 2,385 0 2,385 100
15 IMEAK @;_i 2 m3 0
16 BIEtEAE t 0
T Jpapip  |[22A79VTRIE ¢ 0 0 b I
16 — 1|7 £V 09—+ G m3 6 0 s 100
17 -1 Ea2D)—G747yv1) m3 0
18 TAR IatAVE & 10 EHRREF. V) —F2RER
19 A7) —FRU [BKEILHU—F m3 0
19 - 1AV 90— RG [FkiEav T —r2RER | 0
20 ﬁéf@§777mﬂ AR5 Tavy ke 0 0 o] #pv/or
a1 |REFASIU= S5 A AOERET | o 0 0 ol #ov/o
k avy)—k
22 TERZR (BEHE) kg 151 0 151 100
s BB A EARIE OBREE
23 ot 2] =Rk m2 3 0 3 100
24 EELOE £ m2 7,133 0 7,133 100
25 [ES = B S RETERK m2 1,607 704 2311 70
26 BEMBERAVERERD |, 0
Oy (BERk)
g BEMPERVERERD 0 1 100
27 Ov98 (FLF v AMEHIY |m2 11
o) —bE&)
28 IN—FT-LME ke 450
2 BE=&#M TKBRERERREE | 0 0 450 100
#(FKERIVARRE) €
30 B PR ARAE LEDi%E%EﬁEﬂ = 0 0 o] #DIV/0O!
hROHHD  |BETFRAFVIRBRDE |-
31 Ov’ =098 & 0 0 0|  #DIV/0!
32 B4 £539 724 m2 6 35 41 15
33 g8 B ES v K7 TER 5
34 B m3 0
35 EXZ00 m3 0
% |wE &1k m2 e
m3 0
37 HiRfEEHM m3 0
38 B3R LR m3 0
39 2a—-y>y 20—y m2 0 0 0]  #DIV/0!
40 IS—T4YILHK—F m2 84 0 84 100
41 BEKRER—F (MR m2 0 0 0 #DIV/0!
42 _ AEBREAVME m2 0 0 0 #DIV/0!
i3 (M TIATY Ik TSR F 0 A HNE [m3 0 0 o #DIv/0!
DVEEMER
44 E-LREM  [ESILREHM m2 99 0 99 100
45 B 2841 B BAA TIEH 3
46 FRBARERR FRER KIS R T L THEH [] 2 10 80
47 EHER TEH & 12 0 12 100
48 R IR 4 i K B a 0 0 0 #DIV/0!
49 KERA AR = 0 0 0] #DIV/0!
oz HRIVOUE—RRUTHZE
50 TRk SR B 44 0 44 100
51 1% E = 1 0 1 100
52 R T _ & 3 0 3 100
53 |meH féﬁf':‘i%mﬁﬁig’wﬁ m 79 0 79 100
54 BEKE IR 11 0 11 100
55 RIERE i%’?éggﬁ&lﬁwﬂ”ﬂ TEH 6 0 6 100
56 AER IEHK 16 0 16 100
57 27— FRE [BEHHEEERLEER TEH 0
58 e BREH TIEH 6
59 I e R o SR B 2 R TEH 19 1 20 95
60 = R 1 I=X 19 1 20 95
BRRELEY (g o = s
o |umTi FERELEHFALE TEH 1 0 1 100
o2 |SESERER nwsEmenmTS IHH 0 0 of #ov/or
VYY) —hRE (. 5
63 R T V) —MEEARETE | ITBH 138 0 138 100
6 |BEEE |BLERBEETH LHEH 2
m2 1,930
65 (W)  |BIEERETHE Lhi —
s 5 BEMNTERRELIZER |12 0 0 0 #DIV/0!
66 AERIET A pf:ii—ﬁﬁtl;‘f m2 0 0 0 #DIV/0!
67  |lLumsHIE g%gﬁﬂy»{»tx»*ﬁu TEH 0 0 o] #biv/or
68 I Bk L m2 1,403
R il T T m2 554
10 |Er®IE EL&it m2 0




	概要書式（自動集計）

